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25.0 12.5 25.0 37.5 - 12.5 - - 362.5
25.1 25.5 21.6 17.4 6.9 2.8 2.4 1.0 411.3
28.5 18.4 24.1 14.6 7.6 2.5 0.6 1.9 408.9
20.0 6.7 40.0 - 6.7 - 360.0
29.4 9.4 24.17 18.1 1.7 1.7 0.7 1.7 456.9
32.6 17.4 23.3 1 5.8 1.2 - 1.2 432.6
- - - 20.0 - - 280.0

17.3 17.8 16.8 15.7 5.8 4.1 4.7 - 336. 6
23.9 19. 25.4 16.9 9.9 4.2 1.4 2.8 381.7
25.0 12.5 - 50.0 - - - - 362.5
28.4 27.3 23.5 18.6 7.1 3.3 3.8 1.1 431.1
23.4 20.2 21.0 17.7 8.1 2.4 1.6 1.6 404. 8
28.2 24.2 18.1 14.1 9.4 2.1 2.0 2.0 417.4
21.0 20.6 21.0 17.5 4.8 1.6 - - 398.4
21.2 21.2 21.2 18.3 4.8 2.9 1.0 1.0 385. 6
19.4 25.0 25.0 8.3 2.8 5.6 - - 355.6
33.3 22.2 22.2 55.6 - - - - 477.8
29.4 29.4 24.8 22.0 9.2 3.7 1.8 0.9 468. 8
28.6 25.0 26.8 17.9 5.4 - - 1.8 467.9
35.1 24.5 19.1 9.6 9.6 1.1 - 3.2 461.7
37.5 25.0 32.5 17.5 5.0 2.5 - - 447.5
20.9 23.9 22.4 17.9 4.5 1.5 - 1.5 407.5
23.8 33.3 23.8 9.5 4.8 - - - 361.9
33.3 33.3 33.3 33.3 - - - - 566. 7
26.0 23.3 21.9 12.3 4.1 2.7 5.5 1.4 368.5
17.9 16.4 16. 4 17.9 10.4 4.5 3.0 1.5 355.2
17.3 21.2 17.3 23.1 9.6 5.8 5.8 - 344.2
8.7 13.0 17.4 17.4 4.3 . - - 313.0
21.6 16.2 18.9 18.9 5.4 5.4 2.7 - 345.9
7.1 7.1 21.4 - - 14.3 - - 300.0
25.0 - - 50.0 - - - - 375.0
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F13 THEOBEADIER

E3 Lol | L) BT | 2N \BT | ALl | RE2R z T
DFE | DAPE | LI PE | LbEE | bLEE
. ® AT | D2rHT 5L 2%
= ¥ 4TO| sTo| HECT| #OF
oE L B 4 B ETH | LB ) =
% &z D% H L7 ®IEF *
B BOE OOt (F B & #®T
e 2% B % 1 LD 5% 1%
# X e) ZlE— xlE— &M & fth =
A % % % % % % %
& =14 668 42.1 20.1 23.2 4.3 2.5 4.8 3.0
C [t 7l ]
© [ 390 46.7 17.7 22.3 3.6 2.3 4.9 2.6
E:) [kd 270 35.2 23.7 24.8 5.2 3.0 4.4 3.7
Eiid [a] = 8 50.0 12.5 12.5 12.5 - 12.5 -
L & ® 3 ]
20 ~ 29 =3 50 30.0 26.0 28.0 - 2.0 10.0 4.0
30 ~ 39 =3 80 53.8 8.8 22.5 2.5 3.8 1.5 1.3
40 ~ 49 =3 129 41.1 24.0 21.17 2.3 1.6 5.4 3.9
50 ~ 59 =3 131 37.4 23.7 28.2 1.5 1.5 5.3 2.3
60 ~ 69 =3 154 44.2 20.8 22.17 6.5 1.9 2.6 1.3
70 % LA E 113 41.6 16.8 18.6 9.7 5.3 2.7 5.3
i [=] % " 54.5 9.1 18.2 9.1 - - 9.1
LM - & % 3 )
( & £ )
20 ~ 29 % 27 37.0 18.5 33.3 - 3.7 1.4 -
30 ~ 39 % 50 52.0 4.0 24.0 4.0 6.0 10.0 -
40 ~ 49 % 83 50.6 19.3 16.9 2.4 1.2 4.8 4.8
50 ~ 59 % 85 40.0 23.5 27.1 - 2.4 4.7 2.4
60 ~ 69 % 87 50. 6 16. 1 23.0 4.6 1.1 3.4 1.1
70 % LA i 54 42.6 22.2 14.8 1.1 1.9 1.9 5.6
it [=] % 4 75.0 - 25.0 - - - -
( 8 iE3 )
20 ~ 29 % 22 18.2 36.4 22.17 - - 13.6 9.1
30 ~ 39 % 30 56.7 16.7 20.0 - - 3.3 3.3
40 ~ 49 % 45 22.2 33.3 31.1 2.2 2.2 6.7 2.2
50 ~ 59 % 46 32.6 23.9 30.4 4.3 - 6.5 2.2
60 ~ 69 % 67 35.8 26.9 22.4 9.0 3.0 1.5 1.5
70 % I i 55 40.0 12.7 21.8 9.1 9.1 1.8 5.5
Fiii [a] % 5 60.0 - 20.0 - - - 20.0
(BRiEBE0f &7 )
Ly % 47 43.5 19.3 22.3 5.1 2.8 4.5 2.5
W L Xk OB ) 102 34.3 23.5 26.5 2.0 1.0 8.8 3.9
WAL (B - 3E R 89 41.6 20.2 24.7 3.4 3.4 2.2 4.5
i [=] % 6 66.7 16.7 16.7 - - - -
(8 - RIBEOEER)
( & £ )
Ly % 274 46. 4 18.6 21.2 3.6 2.2 5.5 2.6
W L (kOB ) 55 43.6 12.7 29.1 3.6 1.8 7.3 1.8
WAL (B - 3E R 61 50.8 18.0 21.3 3.3 3.3 - 3.3
3 &) = - - - - - - - -
( [ i3 )
Ly % 197 39.6 20.3 23.9 7.1 3.6 3.0 2.5
W oL (X B ) 47 23.4 36.2 23.4 - - 10.6 6.4
WAL (B - 3E R 26 23.1 26.9 34.6 - 3.8 3.8 1.1
3 ) = - - - - - - - -
C B =z @ ]
B = E 3 £ 50 46.0 16.0 28.0 2.0 4.0 - 4.0
ES i3 End E S & 26 53.8 11.5 19.2 3.8 - 11.5 -
- S ® % B 76 42.1 17.1 30.3 2.6 - 2.6 5.3
b 5 Fir = & 186 43.0 27.4 15.6 4.3 2.2 5.9 1.6
N — bk = 7N A k 103 36.9 18.4 35.0 1.0 1.9 4.9 1.9
L =3 3 - 33.3 - - - 66.7 -
HEEX® (X X)) 75 32.0 26.7 25.3 5.3 1.3 5.3 4.0
i i3 126 47.6 1.1 21.4 7.1 4.8 3.2 4.8
i [=] %= 23 43.5 21.7 8.7 13.0 8.7 4.3 -
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E2 ToM | L BT |2/ BT | BLCR | TER 2 "
2% [oLrE (LI LE | VEEE | LEE
» ® 2HT|2rHT 5L | =%
= e 4T | s#TO| wET| #OF
o LBl 4 K| ETH| LS ) ]
= £l DEH | LTH| #BEF F
B A BOE | O0Of Fy ¥4 #®T
EN 2% | Wi HEL 15 (%
# (el ElE— e b &N % B fth 3
A % % % % % % %
C® - B % 3 )
( ES % )
= E % x 15 53.3 6.7 26. 6.7 - - 6.7
® K & ¥ & 19 57.9 10.5 15. 5.3 - 10.5 -
= # - *k & B 35 54.3 22.9 17. - - 2.9 2.9
® 5 ®m B =& 97 50.5 21.6 13. 4.1 3.1 5.2 2.1
A A A 82 42.7 11.0 37 - 1.2 6.1 1.2
= :3 1 - - - - - 100.0 -
52 XI®R (X X) 72 31.9 26.4 25. 5.6 1.4 5.6 4.2
i ] 57 52.6 10.5 21.1 7.0 3.5 1.8 3.5
£ = £ 12 58.3 25.0 - - 16.7 - -
( g % )
= E % x 35 42.9 20.0 28.6 - 5.7 - 2.9
® K & ¥ & 7 42.9 14.3 28.6 - - 14.3 -
£ # - *h & B 41 31.7 12.2 41.5 4.9 - 2.4 7.3
w 5 ®m B =& 88 34.1 34.1 18.2 4.5 1.1 6.8 1.1
A A A 21 14.3 47.6 23.8 4.8 4.8 - 4.8
= 3 2 - 50.0 - - - 50.0 -
EE E® (X X)) 1 - 100.0 - - - - -
i B 67 41.8 11.9 22.4 1.5 6.0 4.5 6.0
- = = 8 37.5 12.5 25.0 25.0 - - -
(FEHDHER)
(A % 495 44.4 19.0 22.0 4.4 2.8 4.2 3.0
(A 1z A 158 34.8 24.1 25.9 3.2 1.9 7.0 3.2
i ] % 15 40.0 13.3 33.3 13.3 - - -
(- FELOHER)
( ES % )
(A % 299 47.8 18.4 20. 4 3.7 2.3 4.3 3.0
(A 1z 0 86 41.9 16.3 27.9 3.5 2.3 7.0 1.2
i ] %= 5 60.0 - 40.0 - - - -
( g % )
(A % 191 38.7 20. 4 2.6 5.8 3.7 3.7 3.1
(A 1z 0 7 25.4 33.8 23.9 2.8 1.4 7.0 5.6
= = = 8 37.5 12.5 37.5 12.5 - - -
C & 8 )
4 i i 1 183 33.9 19.1 29.0 6.0 3.8 6.0 2.2
3 & i 1 124 49.2 15.3 18.5 5.6 1.6 7.3 2.4
= N i 15 149 40.3 24.2 21.5 3.4 2.7 2.0 6.0
[ i i 15 63 5.6 19.0 19.0 1.6 - 4.8 -
+ i i 1 104 44.2 22.1 23.1 2.9 1.9 4.8 1.0
i i i 15 36 33.3 22.2 27.8 2.8 5.6 2.8 5.6
= ] % 9 55. 6 1.1 1.1 1.1 - - 1.1
C# - & 5 )
( ES % )
4 i i 1 109 36.7 16.5 21.5 6.4 2.8 8.3 1.8
3 # i 15 56 51.8 14.3 21.4 5.4 1.8 3.6 1.8
= N i 15 94 51.1 20.2 17.0 2.1 2.1 2.1 5.3
i i i 15 40 52.5 17.5 22.5 2.5 - 5.0 -
+ i i 15 67 50.7 17.9 23.9 1.5 1.5 4.5 -
L i i 15 21 38.1 23.8 19.0 - 9.5 4.8 4.8
E G % 3 66.7 - - - - - 33.3
( g % )
4 i i 15 73 30.1 23.3 31.5 5.5 5.5 1.4 2.7
3 # i 15 67 46.3 16.4 16. 4 6.0 1.5 10.4 3.0
= N i 15 52 19.2 32.7 28.8 5.8 3.8 1.9 7.7
i i i 15 23 60.9 21.7 13.0 - - 4.3 -
+ i i 15 37 32.4 29.7 21.6 5.4 2.7 5.4 2.7
T i i 1 14 21.4 21.4 42.9 7.1 - - 7.1
i = = 4 75.0 - 25.0 - - - -
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&14 THEMEZDADNEINEESIBELRK

—
=

Z |E~EE E S —~ &b AE EnE F3)
R#ER| @ % XE BT £ 4 ”
B ::Q:"El: . ¥ [N :t'E':' ®
E%% & o g% D " X
) %%ﬂ H B O E% = 1
shE| E # El B e g ¥
5 E B E Va1 =
A % % % % % % %
23 # 668 47.0 41.5 38.2 36.7 33.5 32.2 32.2
C i 5 ]
z i3 390 48.7 48.2 39.7 36.7 34.9 34.9 36.4
E:] 3 270 45.6 33.0 37.0 37.4 32.2 29.3 26.7
Fiii [a] = 8 12.5 - - 12.5 12.5 - 12.5
& & &)
20 ~ 29 Iz 50 44.0 32.0 36.0 38.0 26.0 30.0 26.0
30 ~ 39 =3 80 45.0 43.8 42.5 36.3 33.8 30.0 35.0
40 ~ 49 Iz 129 43. 4 42.6 35.7 31.8 27.9 27.9 31.0
50 ~ 59 Iz 131 52.7 42.7 40.5 38.2 35.1 39.7 35.1
60 ~ 69 Iz 154 50.0 42.2 41.6 40.3 34.4 31.2 39.6
70 % LA i 113 451 43.4 33.6 38.1 40.7 32.7 22.1
i [al % 1 27.3 9.1 18.2 9.1 27.3 27.3 18.2
[t £ &% B )
( t )
20 ~ 29 I 27 48.1 37.0 37.0 44 4 22.2 29.6 22.2
30 ~ 39 = 50 42.0 46.0 38.0 26.0 34.0 22.0 38.0
40 ~ 49 I 83 44. 6 49 4 41.0 36.1 30.1 31.3 34.9
50 ~ 59 = 85 62.4 50.6 38.8 40.0 38.8 45.9 41.2
60 ~ 69 = 87 50.6 50.6 43.7 40.2 37.9 36.8 44.8
70 % LA i 54 38.9 48.1 37.0 35.2 40.7 35.2 24.1
i [a] % 4 25.0 25.0 25.0 - - 25.0 25.0
( 5 t )
20 ~ 29 I 22 40.9 27.3 36. 4 31.8 31.8 31.8 31.8
30 ~ 39 = 30 50.0 40.0 50.0 53.3 33.3 43.3 30.0
40 ~ 49 % 45 42.2 31.1 26.7 24.4 24. 4 22.2 24. 4
50 ~ 59 % 46 34.8 28.3 43.5 34.8 28.3 28.3 23.9
60 ~ 69 % 67 49.3 31.3 38.8 40.3 29.9 23.9 32.8
70 % 2L i 55 52.7 41.8 32.7 41.8 43.6 32.7 20.0
Fiii [a] % 5 40.0 - 20.0 20.0 40.0 40.0 20.0
(B f8 & 0 & & 5 )
Ly % 47 50.3 44 .2 40.8 37.2 34.8 32.5 31.2
(A N A AN ( *x 1B ) 102 39.2 36.3 33.3 34.3 25.5 30.4 35.3
Ly 22 Ly (B - 3E B 89 40.4 36.0 32.6 38.2 38.2 34.8 34.8
i [a] % 6 16.7 - - 16.7 - - 16.7
(HER - BRIBEDHER)
( % 1 )
Ly ) 274 51.5 50.7 41.2 36.1 35.8 34.3 34.7
(A N A AN ( *® 1B ) 55 41.8 41.8 30.9 36.4 27.3 32.7 40.0
Ly A2 Ly (B - 3E A 61 42.6 42.6 41.0 39.3 37.7 39.3 41.0
= = % - - - - - - - -
( ] 1 )
Ly % 197 48.7 35.0 40.1 38.6 33.5 29.9 26.4
(A A AN ( ® 1B ) 47 36.2 29.8 36.2 31.9 23.4 21.17 29.8
Ly A2 Ly (B - 3E A 26 38.5 23.1 15.4 38.5 38.5 26.9 23.1
E ] 2 - - - - - - - -
C B %= & )
B = £ * 50 50.0 38.0 30.0 30.0 26.0 30.0 36.0
ES )i:3 na £ & 26 34.6 50.0 30.8 38.5 30.8 23.1 34.6
£ # - ® % B 76 51.3 39.5 42.1 40.8 30.3 26.3 32.9
ia 5 r = & 186 45.2 37.1 441 34.4 35.5 29.6 31.7
IN— b = TN A bk 103 50.5 39.8 33.0 35.9 29.1 36.9 30.1
= & 3 66.7 33.3 66. 7 66. 7 66. 7 66. 7 66. 7
BEExEFB (X X)) 75 58.7 58.7 40.0 45.3 42.7 42.7 37.3
i i3 126 42.1 43.7 38.9 39.7 34.1 32.5 32.5
i [al = 23 26. 1 21.7 13.0 8.7 30.4 26.1 8.7
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i % = D) % tk * s T
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% % % % % % % % % % %
24.0 23.5 20.4 19.0 18.0 14.7 13.3 8.4 2.8 1.3 406. 6
20.8 24. 4 24. 4 22.1 20.5 15.1 11.5 9.5 2.1 0.3 430.0
28.9 23.0 15.2 15.2 14.8 14. 4 15.9 5.6 3.7 3.0 380.7
12.5 - - - - - 12.5 50.0 12.5 - 137.5
16.0 18.0 20.0 18.0 10.0 12.0 14.0 8.0 8.0 2.0 358.0
16. 3 25.0 23.8 12.5 23.8 11.3 13.8 8.8 5.0 - 406. 3
14.7 14.0 17.1 14.7 14.0 10.1 15.5 11.6 2.3 1.6 355.8
24. 4 33.6 25.2 21.4 21.4 17.6 13.0 6.1 2.3 1.5 450. 4
31.8 24.0 20.8 20.8 19.5 18.2 9.7 7.8 1.3 0.6 433.8
32.7 23.0 17.17 23.9 17.17 16.8 13.3 7.1 2.7 1.8 412. 4
18.2 27.3 - 18.2 - - 36. 4 18.2 - 9.1 263. 6
11.1 18.5 22.2 18.5 1.4 3.7 14.8 1.1 - - 348. 1
10.0 16.0 20.0 12.0 20.0 10.0 14.0 12.0 6.0 - 366.0
15.7 18.1 22.9 19.3 14.5 12.0 10.8 10.8 2.4 1. 395.2
21.2 37.6 29.4 25.9 27.1 17.6 11.8 5.9 2.4 - 496. 5
32.2 27.6 26.4 24.1 25.3 20.7 9.2 8.0 1.1 - 479.3
24.1 18.5 22.2 25.9 20.4 18.5 11.1 1.1 - - 411.1
25.0 25.0 - 50.0 - - 25.0 25.0 - - 275.0
22.7 18.2 18.2 18.2 13.6 22.17 13.6 - 18.2 4.5 381.8
26.7 40.0 30.0 13.3 30.0 13.3 13.3 3.3 3.3 - 473.3
13.3 6.7 6.7 6.7 13.3 6.7 24.4 1.1 2.2 2.2 288.9
30.4 26. 1 17.4 13.0 10.9 17.4 15.2 6.5 2.2 4.3 365. 2
31.3 19.4 13.4 16. 4 11.9 14.9 10. 4 7.5 1.5 1.5 374.6
41.8 29.1 14.5 23.6 16. 4 16. 4 16.4 1.8 3.6 3.6 432.17
20.0 40.0 - - - - 40.0 - - 20.0 300.0
26.3 25.3 19.5 19.5 17.6 15.5 13.2 7.4 1.7 1.1 418.0
18.6 17.6 19.6 15.7 15.7 10.8 10.8 7.8 5.9 2.9 359.8
18.0 22.5 27.0 21.3 23.6 15.7 16.9 11.2 5.6 1.1 418.0
16.7 - - - - - 16.7 50.0 - - 133.3
22.6 26.6 23.4 21.5 19.7 16. 1 9.9 9.5 1.5 - 435.0
16. 4 16.4 21.8 18.2 16. 4 9.1 10.9 10.9 1.8 1. 374.5
16. 4 21.3 31.1 27.9 27.9 16.4 19.7 8.2 4.9 - 457. 4
31.5 23.4 14.2 16.8 14.7 14.7 17.8 4.6 2.0 2.5 394. 4
21.3 19.1 17.0 12.8 14.9 12.8 10.6 4.3 10.6 4.3 342. 6
23.1 26.9 19.2 1.7 15.4 15.4 11.5 15.4 3.8 3.8 346. 2
26.0 14.0 18.0 18.0 14.0 24.0 14.0 10.0 2.0 - 380.0
23.1 26.9 11.5 3.8 11.5 11.5 15.4 3.8 3.8 - 353.8
22.4 23.17 22.4 13.2 15.8 14.5 15.8 11.8 2.6 1.3 406. 6
22.0 18.8 19.4 16. 1 19.4 10.8 13.4 6.5 4.3 2.2 390.3
20.4 29.1 20.4 15.5 15.5 11.7 14. 6 8.7 - 1.0 392.2
66. 7 33.3 33.3 66. 7 33.3 33.3 - - 33.3 - 733.3
22.7 29.3 30.7 28.0 18.7 18.7 4.0 5.3 - - 482.17
32.5 27.0 20.6 27.8 23.8 18.3 13.5 8.7 3.2 2.4 441.3
8.7 13.0 - 13.0 4.3 8.7 26.1 21.17 8.7 - 239.1
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S = B = B 1 " =
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C# - B o2z 3 )
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B = ¥ * 15 46.7 40.0 33.3 33.3 26.7 26.7 60.0
ES )3 na ES & 19 31.6 36.8 26.3 36.8 31.6 21.1 31.6
= # - ® % B 35 57.1 51.4 40.0 45.7 37.1 25.7 40.0
B 5 AT = E= 97 48.5 47.4 49.5 33.0 37.1 32.0 39.2
IN— b = 7T ILIN A b 82 50.0 43.9 31.7 34.1 26.8 37.8 30.5
=2 & 1 100.0 - 100.0 100.0 100.0 100.0 100.0
BEExEFB (X X)) 12 61.1 61.1 41.7 45.8 44. 4 44 4 38.9
i i3 57 38.6 491 43.9 35.1 33.3 36.8 35.1
i [al = 12 16.7 25.0 8.3 8.3 25.0 25.0 8.3
( 8 P )
B = ¥ * 35 51.4 37.1 28.6 28.6 25.7 31.4 25.7
ES )3 ina ES & 1 42.9 85.7 42.9 42.9 28.6 28.6 42.9
= # - * & & 4 46.3 29.3 43.9 36.6 24. 4 26.8 26.8
% 5 AT = E= 88 42.0 26. 1 38.6 36.4 34.1 27.3 23.9
IN— k= 7T I N A 21 52.4 23.8 38.1 42.9 38.1 33.3 28.6
# & 2 50.0 50.0 50.0 50.0 50.0 50.0 50.0
E X2 ER (X %) 1 - - - - - - -
i i3 67 44.8 40.3 35.8 44.8 35.8 29.9 29.9
Fiii [al = 8 50.0 25.0 25.0 12.5 37.5 37.5 12.5
(F &L 0 A & 7l
Ly 3 495 48.9 43.6 39.8 37.8 34.7 33.5 33.1
Ly 1A Ly 158 42.4 37.3 34.8 34.2 29.1 28.5 31.6
i [l % 15 33.3 13.3 20.0 26.7 40.0 26.7 6.
(- FELDOHER)
( & P )
Ly % 299 49.5 49.8 41.5 37.5 36.5 36.1 38.
Ly 1A Ly 86 46.5 44.2 34.9 33.7 29.1 32.6 32.
i [al % 5 40.0 20.0 20.0 40.0 40.0 -
( 8 P )
Ly % 191 48.7 35.1 38.2 38.7 33.0 30.4 25.
Ly 1A Ly T 38.0 29.6 35.2 35.2 29.6 23.9 31.
Fiii [a] = 8 37.5 12.5 25.0 25.0 37.5 50.0 12.5
¢ #  =m B )
®’ [iic) Hh i 183 44.8 42.1 37.7 34.4 35.0 33.9 33.3
=s 3] Hh i 124 53.2 41.9 37.1 37.9 36.3 37.9 38.7
= J\ Hh b 149 45.0 38.9 42.3 36.2 32.9 28.2 26.2
[rié] it Hh b 63 60. 3 46.0 44 4 49.2 34.9 28.6 36.5
+ it Hh b 104 42.3 43.3 33.7 35.6 29.8 31.7 32.7
T it Hh b 36 38.9 44 4 33.3 30.6 25.0 27.8 22.2
i [a] % 9 33.3 - 22.2 22.2 44. 4 33.3 22.2
C# - # &= B )
( & P )
® [rié) Hh b 109 46. 8 45.0 36.7 37.6 39.4 36.7 33.9
=s 3] Hh b 56 60.7 53.6 42.9 42.9 41.1 50.0 46. 4
= J\ Hh b 94 50.0 46.8 43.6 36.2 33.0 25.5 34.0
[rié) it Hh b 40 57.5 50.0 47.5 37.5 35.0 37.5 42.5
E it Hh b 67 35.8 47.8 34.3 32.8 25.4 31.3 35.8
T it Hh b 21 47.6 61.9 33.3 28.6 33.3 33.3 23.8
i [a] % 3 33.3 - 33.3 33.3 33.3 33.3 33.3
( 2 P )
® [rié) Hh b 13 42.5 38.4 39.7 30.1 28.8 30.1 32.9
=s 3] Hh b 67 47.8 32.8 32.8 34.3 32.8 28.4 32.8
= J\ Hh 18 52 36.5 26.9 42.3 36.5 34.6 34.6 11.5
[iic) it Hh 18 23 65. 2 39.1 39.1 69.6 34.8 13.0 26.1
i it Hh 18 37 54.1 35.1 32.4 40.5 37.8 32.4 27.0
T it Hh 18 14 28.6 21.4 35.7 35.7 14. 3 21.4 21.4
Fiii [a] % 4 50.0 - 25.0 25.0 50.0 50.0 25.0
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5 - B 1 E N
s a Bo % =) ()] [a M
g % = ) % tk = . T
" &% e £l »
= L % & 2 % L W fth % ~
% % % % % % % % % % %
20.0 13.3 33.3 26.7 20.0 33.3 6.7 13.3 - - 433.3
31.6 26.3 10.5 5.3 5.3 10.5 21.1 5.3 - - 331.6
17.1 22.9 25.7 17.1 20.0 17.1 11.4 14.3 5.7 448. 6
17.5 19.6 26.8 18.6 23.7 10.3 11.3 6.2 4.1 1. 425.8
18.3 31.7 18.3 17.1 15.9 11.0 15.9 11.0 - 393.9
100.0 - - 100.0 - - - - - - 800.0
23.6 30.6 31.9 29.2 19.4 19.4 2.8 4.2 - - 498. 6
26.3 21.1 26.3 33.3 31.6 21.1 14.0 12.3 1.8 - 459. 6
8.3 8.3 - 16.7 8.3 8.3 16.7 33.3 8.3 - 225.0
28.6 14.3 11.4 14.3 11.4 20.0 17.1 8.6 2.9 - 357.1
- 28.6 14.3 - 28.6 14.3 - - 14.3 - 414.3
26.8 24. 4 19.5 9.8 12.2 12.2 19.5 9.8 - 2.4 370.7
27.3 18.2 11.4 13.6 14. 8 1.4 15.9 5.7 4.5 3.4 354.5
28.6 19.0 28.6 9.5 14.3 14.3 9.5 - - 4.8 385.7
50.0 50.0 50.0 50.0 50.0 50.0 - - 50.0 - 700.0
- - - - - - 100.0 - - - 100.0
37.3 32.8 16.4 23.9 17.9 16.4 13.4 4. 4.5 4.5 432.8
12.5 25.0 - 12.5 - 12.5 37.5 - - - 300.0
25.3 25.5 21.8 20.4 19.0 16.2 12.7 8.7 2. 0.8 424. 4
20.3 18.4 17.1 15.2 16.5 1.4 13.9 7.0 3. 2.5 363.9
20.0 13.3 6.7 13.3 - 26.7 13.3 6.7 266.7
21.1 27.8 26. 4 23.4 22.1 17.4 11.0 9.7 2.3 - 450. 2
18.6 14.0 18.6 16.3 16.3 8.1 14.0 8.1 1.2 1. 369.8
40.0 - 40.0 - 20.0 - - 260.0
31.9 22.5 15.2 16.2 14.7 14.7 15.7 6.3 2.6 2.1 391.6
22.5 23.9 15.5 14.1 16.9 15.5 14.1 4.2 7.0 4.2 360. 6
12.5 25.0 12.5 - - - 37.5 - - 12.5 300.0
21.9 23.5 21.3 18.0 17.5 16.4 14. 8 1.7 2.7 1.1 406.0
29.0 28.2 25.0 20.2 22.6 20.2 14.5 8.9 4.8 1.6 458. 1
21.5 18.1 15.4 18.8 16.8 11.4 10.7 6.7 4.0 2.7 375.8
27.0 33.3 23.8 20.6 22.2 17.5 4.8 7.9 3.2 - 460. 3
25.0 22. 1 20.2 18.3 15.4 11.5 15.4 10.6 - - 387.5
16.7 13.9 16.7 19.4 11.1 5.6 16.7 8.3 - 2.8 333.3
33.3 33.3 11.1 22.2 11.1 1.1 33.3 22.2 - - 355.6
16.5 22.9 21.1 18.3 20.2 18.3 14.7 10. 1 2.8 - 421.1
28.6 33.9 37.5 28.6 26.8 26.8 14.3 7.1 1.8 - 542.9
19.1 19.1 20.2 21.3 19.1 10.6 8.5 1.4 3.2 1. 398.9
30.0 32.5 30.0 22.5 27.5 12.5 1.5 10.0 2.5 - 482.5
20.9 23.9 20.9 20.9 14.9 9.0 11.9 11.9 - - 377.6
4.8 14.3 23.8 23.8 14.3 9.5 9.5 9.5 - - 371.4
66. 7 33.3 33.3 66.7 33.3 33.3 - 33.3 - - 500.0
30.1 24.7 21.9 17.8 13.7 13.7 15.1 4.1 1.4 2.7 387.17
29.9 23.9 14.9 13.4 19.4 14.9 14.9 9.0 1.5 3.0 392.5
25.0 17.3 1.7 15.4 13.5 13.5 15.4 3.8 5.8 5.8 346. 2
21.7 34.8 13.0 17.4 13.0 26. 1 - 4.3 4.3 - 421.17
32.4 18.9 18.9 13.5 16.2 16.2 21.6 8.1 - - 405. 4
35.7 14.3 7.1 14.3 7.1 - 28.6 - - 7.1 292.9
25.0 50.0 - - - - 50.0 - - - 350.0
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R15 TEDEFEZEDDICRLTOES
&2 +ER) ER E 7 + & Ak eSS
HDE BRICH 9 B VR BOC%
" T - W - T M cl=s- REQ
[EB A SXie 3% EFER BmL
A LD 72 8 | o f AV IS
= wilo nx - no TR itk
SEX + 4R - R 210
£RE HES LE 2AF 55T
-l 4 TOH H Lk & &
A % % % % %
| 668 52.8 51.5 45.5 4.3 31.7
( % 5l )
% % 390 60.3 61.0 52.6 53.1 36.2
| % 270 43.0 38.1 36.7 32.2 25.9
" ) = 8 25.0 37.5 - 25.0 12.5
C & & A )
20 ~ 29 % 50 54.0 54.0 36.0 62.0 18.0
30 ~ 39 % 80 4.5 43.8 53.8 53.8 4.3
40 ~ 49 % 129 57.4 56. 6 42.6 47.3 29.5
50 ~ 59 % 131 58.8 55.0 51.1 4.3 34.4
60 ~ 69 % 154 53.9 50.0 45.5 37.7 31.2
70 # Ll E 113 45.1 47.8 42.5 38.1 31.9
Eis ) = 11 21.3 54.5 21.3 18.2 21.3
(% - & &8 5 )
( % i )
20 ~ 29 % 27 59.3 63.0 44.4 74.1 18.5
30 ~ 39 % 50 56.0 44.0 62.0 60.0 50.0
40 ~ 49 % 83 61.4 63.9 45.8 56. 6 32.5
50 ~ 59 % 85 62.4 63.5 56.5 51.8 38.8
60 ~ 69 % 87 66. 7 63.2 56.3 47.1 33.3
70 # Ll E 54 50.0 64.8 48.1 44.4 38.9
Eis ) = 4 50.0 50.0 25.0 25.0 25.0
( E % )
20 ~ 29 # 22 50.0 45.5 21.3 45.5 18.2
30 ~ 39 % 30 33.3 43.3 40.0 43.3 26.7
40 ~ 49 % 45 51.1 4.4 37.8 31.1 24.4
50 ~ 59 % 46 52.2 39.1 4.3 30.4 26.1
60 ~ 69 % 67 37.3 32.8 31.3 25.4 28.4
70 # B4 E 55 40.0 32.7 40.0 32.7 21.3
i ) = 5 20.0 40.0 40.0 20.0 20.0
(EEB=E D FE 5 )
L % 471 53.5 53.3 45.9 43.3 33.5
AN 3B 102 47.1 45.1 43.1 46.1 26.5
AR-SANE 2D 89 57.3 50. 6 49.4 48.3 29.2
i ) %= 6 33.3 33.3 - 33.3 16.7
(MR - BEABE DR EA)
( ES % )
L % 274 60. 6 62.8 51.1 51.5 38.0
W (R OB 55 50.9 54.5 49.1 54.5 30.9
Loy CBE - ZE R 61 67.2 59.0 62.3 59.0 32.8
T ) % - - - - - -
( ] % )
L ) 197 43.7 40.1 38.6 32.0 2].4
W (R OB 47 42.6 34.0 36.2 36.2 21.3
Loy CBE - ZE R 26 38.5 30.8 23.1 26.9 23.1
T ) = - - - - - -
O T
B -4 ES * 50 30.0 40.0 38.0 26.0 26.0
ES i3 i ES £y 26 34.6 65.4 46.2 38.5 26.9
= # *x ®& B 16 44.7 50.0 38.2 50.0 26.3
A = fir 7 £y 186 53.8 44.6 53.2 46.2 33.3
AN D A VAN O 103 68.0 61.2 49.5 49.5 37.9
= & 3 66.7 66. 7 66.7 66.7 -
EEXITH (X X)) 15 68.0 70.7 46.7 51.3 40.0
i3 7 126 50.8 45.2 38.9 38.1 21.8
i ] & 23 34.8 47.8 34.8 21.7 26.1
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1Y EEDHE 73 {8 | xo4& AEE IS
= wilo nk - (AY)) *FE - #cH
CEX +AHR ® HEEE Z 1LY
& RIE SESE EE EATF 33T
M RS TDH A Lk & s
A % % % % %
C# - B o2 )
( & 1% )
=] = ES x 15 40.0 60.0 60.0 33.3 26.7
® K it ¥ = 19 31.6 63.2 52.6 31.6 31.6
& # - ® & B 35 51.4 62.9 48.6 60.0 31.4
w 5 ®m B & 97 57.7 48.5 60. 8 56.7 38.1
R— k= 7L A b 82 73.2 67. 1 50.0 57.3 40.2
Z £ 1 100. 0 100. 0 100. 0 100.0 -
EEIHRB (X X)) 72 68. 1 72.2 47.2 56.9 40.3
% 7 57 57.9 59. 6 50.9 49.1 31.6
% ) % 12 50.0 50.0 4.7 25.0 25.0
( ] 1% )
=] = ES ES 35 25.7 31.4 28.6 22.9 25.7
® K & % & 7 42.9 71.4 28.6 57.1 14.3
& # - ® & B 41 39.0 39.0 29.3 41.5 22.0
w 5 ®m B & 88 50.0 40.9 45.5 34.1 28.4
R— bk = 7L A b 21 47.6 38.1 47.6 19.0 28.6
% % 2 50.0 50.0 50.0 50. 0 -
EE R (X X)) 1 100. 0 - 100. 0 100.0 100. 0
i 5 67 44.8 34.3 29.9 29.9 25.4
i =l = 8 25.0 37.5 37.5 25.0 25.0
(FELOAE R
L % 495 54.5 52.5 46.5 44.6 33.1
L 7 W 158 51.3 48.1 43.7 45.6 29.1
i =) % 15 13.3 53.3 33.3 20.0 13.3
(- FELOAEM)
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L % 299 62.5 61.5 53.5 52.8 37.1
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( ] 1% )
L % 191 42.4 39.3 36.6 32.5 21.7
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O # = B )
= 7 # 1 183 55.7 58.5 44.8 44.3 35.5
H 3l # 1 124 50.8 49.2 43.5 50.0 30.6
= M # 1 149 60. 4 48.3 50.3 48.3 33.6
7 It # 1 63 47.6 49.2 54.0 42.9 31.7
£ it # 4 104 47.1 51.0 42.3 41.3 26.0
T it #h 1 36 4.4 38.9 33.3 25.0 25.0
i ) = 9 33.3 66. 7 33.3 22.2 33.3
C# - # &= 2 )
( %z 14 )
= 7 #h 1 109 60.6 71.6 46.8 53.2 35.8
H 3l #h 1 56 60. 7 64.3 60. 7 64.3 44.6
= M #h 1 94 69. 1 55.3 58.5 54.3 39.4
7 it #h 1 40 50.0 57.5 57.5 50.0 35.0
£ it #h 1 67 52.2 52.2 47.8 52.2 31.3
T it #h 1 21 61.9 57.1 42.9 28.6 19.0
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( ] 1% )
= 7 #h 1 73 49.3 39.7 42.5 31.5 35.6
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7373 1) .
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CEE 245
EER Ll L L 1 % =
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53.3 13.3 13.3 - - - 300.0
52.6 21.1 10.5 - - 294.7
22.9 42.9 5.7 - 2.9 - 328.6
21.6 24.7 2.1 1.0 2.1 1.0 314.4
32.9 26. 8 2.4 1.2 4.9 - 356. 1
100. 0 - - - 100. 0 - 600.0
29.2 22.2 4.2 1.4 1.4 - 343.1
40. 4 21.1 14.0 - 3.5 - 328.1
41.7 8.3 16.7 8.3 8.3 - 275.0
20.0 11.4 8.6 17.1 2.9 - 194.3
28.6 14.3 - 14.3 - 271.4
31.7 22.0 7.3 4.9 2.4 - 239.0
14.8 30.7 5.7 2.3 5.7 2.3 260. 2
38.1 23.8 - 9.5 - 9.5 261.9
50.0 - - - 50. 0 - 300.0
- - - - - - 400. 0
37.3 28. 4 11.9 4 - 3. 249.3
37.5 37.5 - - - - 225.0
29.5 24.6 6.3 3.2 2.8 0.8 298. 6
26.6 24.7 7.6 2.5 3.8 2.5 285. 4
66. 7 26.7 6.7 6.7 - - 240.0
31.1 23.7 5.7 1.0 3.0 - 332.1
31.4 29.1 5.8 1, 3.5 1. 327.9
80.0 - 20.0 - - - 220.0
27.2 26.7 6.3 6.8 2.6 1.6 249.7
21.1 19.7 9.9 2 4.2 4. 236. 6
62.5 37.5 - - - - 237.5
28. 4 24.0 6.0 2.2 2.7 1.6 303.8
29.8 30. 6 8.1 3.2 4.0 0.8 300. 8
30.2 22.1 4.0 0.7 4.0 2.0 304.0
25. 4 28.6 3.2 6.3 3.2 - 292.1
27.9 24.0 9.6 4.8 1.9 1.0 276.9
38.9 8.3 1.1 5.6 - - 230. 6
55. 6 44. 4 1.1 1.1 - - 311.1
35.8 21.1 5.5 0. 2.8 - 333.9
37.5 33.9 5. 4 - 3.6 - 375.0
29.8 26. 6 3.2 - 4.3 1.1 341.5
22.5 25.0 2.5 5.0 2.5 - 307.5
28. 4 25. 4 10.4 1.5 3.0 - 304.5
28.6 4.8 9.5 - - - 252. 4
66. 7 33.3 33.3 - - 366. 7
17.8 28.8 6.8 4.1 2.7 2.7 261.6
23.9 28. 4 9.0 6.0 4.5 1.5 241.8
30.8 15.4 5.8 1.9 3.8 3.8 242.3
30. 4 34.8 4.3 8.7 4.3 - 265. 2
27.0 21.6 8.1 10.8 - 2.7 227.0
57.1 14.3 7.1 14.3 - - 207.1
50. 0 50. 0 - - - - 275.0
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3.4 WHENBEHEEIDEHIC, KE-HE-BIBCEVWTRERIL

LHENHESOBE TICRAUBIS TSR BEHIC. RE- R - BBV TR ERTLRALLE
SHEIVEECE, [RBPIPFEISTRE, FEOETAISNBRIEOER 2R R EOE SN 82.6%¢
BOEC UT. [N BER 2TEADBISOEIRM L L S0 BHME] (64.7%) | [BHEOD
RE-FRESH (542%) . [HBCHFZER - NECOMUIBHEOFTRE] (52.5%) . [N
B BTEAOBBORMROIEMR - BHMBE] (51.5%) BEDIELAITVD, (HEEEIS, L5
HE)

HRICE 2. [MRBFIPEEITTRE, FEBETATSNZIREDOE . [ THENMBIEFETDEADE
BOEER S OEME . BicE ] [BMoRSE-BIESH]. [BBCHIZBIR-NMELOMII
EBHIEOCTE] [ ZENMEEHITEENOBEIZOBMROIRERE B E |1 22 B0 SETHTE
I TWLB,

FHpRlCRZE. [RBEMPNEEIIIRE, FELZTATSNIRBORE G | 2Z B DOEIS(E 30 7%
KT [EMBEHETBENDRIZOEIRIC_E S0 - B E 12 BB OE S 20 K.
30 AT, [BEHEORSE - BREMIZEFLEOEIE(E 20 mAANS 40 mAT. HHZCHFZBER- M
FEEOMIITIRHIEDOTE | ZZR(F-BDOEIE(E 30 m&AX. 50 FAT. [ ZHENMBEHITDEADIEZD
EMRDIRAE - B E 12 R B OFE(F 20 %K. 30 %X, 50 BT, ENENFZRBROTULS,
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TE)

REAOEEDSTRE, FEEERITONDIREDER

NEXEY -—EADRR

RE - BRIEY-EIADRRE

SHDHRE - BIRSM

UEDBIEHIT D ENDKIKE DR - BHNE
TMDBEIEHIT DT ENDBIHOEIRE O LT DIRME - BHENE
UEDBEHIT DT ENDBIBORRDIEER - BHNE
BEHRIDCENADLEBBDORHUE
BLRIDREBEBBONEESHEAITHUE

10 BIBICRITBDER « NECDOWIUBERIEDITR

11 BEEYFHNEOESHFFNEREDEA

12 BIRONELCIDEBANOHNEEDBE ULFKERENDRN BRI NDEELE
13 Z20fth (BAEKIC )
14 HIC0

15 DA 510

OCO~NOOTA~WN

72



B17 ZENMBEMTIEHIC. RE - HE - BSITEWTRELGRI L

(B#EZ)
0 10 20 30 40 50 60 70 80 90 100

b (%)

REROCREISTRE,
FEBEFRTONDIREDESR

ERAWEFTIoEAD
BB OEEE-© L7 0OER- BlkE

BHORE-BRSM

BBICEHBER-NHEED
MU XEHEORKE

LIENBERTHIEAD
BiSDOEFEOERE - EHRE

TIENBEHETHEAND
REFOEME -BHNE

RE-HARXBEYEXORR

NEXBEY—EROFEE

BB ADRFEREFBOREES O
BEHWE

BRONEICLDILEE~DHMNEEH
ELEREREANDFFIBREEELD

2t

R R HHECETDBHELZED
BA

BERITEEADLKEBSOEHBE

0t
MBI
i m 3% (668A)
FIZ7E0N

* B2 (390N)
. 0B (270A)
S

(N=668 A, MT=585. 9%)

73



F16 KIENEESHITH-OIC. RE-HR-BSICEOWTRELGIE

& BLR | BOXK 5 CH | BOK | EOX | OR |
5 B | mBik i 05 | wmi R | KE
OFFH | - ) mic | A et | = -
" B2EO | BOM E uE o 8 ey B
oy | mEs = % ¥ Rl & o 7
8 | HEH : i# B 2 {5 %
By | £mi & B D IF 2 1+ 12
= 3 % % ER B3 % +
57 tC & o - 7 C EC I
ni 5 & i ) & Be 5
% D~ ES B G 2
#
A % % % % % % %
# # 668 82.6 64.7 54.2 52.5 51.5 47.2 43.6
C i ] ]
x % 390 87.4 71.8 61.0 58.7 60.0 52.8 45.9
E: i 270 75.9 55.6 44.4 441 40.0 40.0 40. 4
i [a] = 8 75.0 25.0 50.0 37.5 25.0 12.5 37.5
C & & B )
20 ~ 29 = 50 82.0 78.0 68.0 56.0 62.0 40.0 50.0
30 ~ 39 = 80 88.8 7.3 62.5 67.5 67.5 43.8 42.5
40 ~ 49 = 129 83.7 65. 1 61.2 46.5 47.3 46.5 42.6
50 ~ 59 = 131 84.0 67.9 55.7 58.0 57.3 51.1 48.9
60 ~ 69 = 154 81.2 62.3 45.5 54.5 52.6 49.4 42.2
70 I I8 L 113 81.4 56. 6 45.1 41.6 33.6 47.8 38.9
i = 3 11 45.5 21.3 45.5 18.2 36.4 27.3 36.4
(- & 8 8 )
( ES i )
20 ~ 29 4 27 92.6 88.9 70. 4 71.8 81.5 44.4 55.6
30 ~ 39 % 50 92.0 82.0 62.0 72.0 74.0 50.0 46.0
40 ~ 49 % 83 89.2 67.5 65. 1 48.2 50.6 48.2 43.4
50 ~ 59 % 85 90. 6 69.4 60.0 64.7 60.0 57.6 47.1
60 ~ 69 % 87 85.1 7.3 62.1 62.1 64.4 55.2 46.0
70 I I8 L 54 79.6 66. 7 50.0 40.7 44.4 57.4 42.6
i = =3 4 50.0 50.0 50.0 25.0 50.0 25.0 50.0
( B i )
20 ~ 29 4 22 68. 2 68. 2 63.6 27.3 40.9 36.4 40.9
30 ~ 39 % 30 83.3 53.3 63.3 60.0 56.7 33.3 36.7
40 ~ 49 3 45 13.3 60.0 53.3 42.2 40.0 42.2 40.0
50 ~ 59 3 46 n.i 65.2 47.8 45.7 52.2 39.1 52.2
60 ~ 69 3 67 76. 1 50.7 23.9 44.8 31.3 41.8 37.3
70 I LA L 55 83.6 49.1 41.8 43.6 23.6 41.8 38.2
i B = 5 40.0 20.0 40.0 20.0 40.0 40.0 20.0
(BB E o0& &5 )
(A % 4n 83.7 65. 6 52.0 53.5 51.8 49.5 44.4
AN A - 102 79.4 62.7 58.8 471 51.0 40.2 36.3
LAy (B - 3E ORI 89 79.8 64.0 59. 6 53.9 51.7 44.9 47.2
i ] & 6 100.0 33.3 66.7 50.0 33.3 16.7 50.0
(M3 - RBEOHER)
( ES 'ri )
(A % 274 86.9 70.4 60.2 58.0 59.5 54.7 45.6
(AN AN ) 55 89. 1 74.5 61.8 58.2 61.8 49.1 41.8
L ALy (B - 3E ORI 61 88.5 75.4 63.9 62.3 60.7 47.5 50.8
" E % - - - - - - - -
( | H )
(A % 197 79.2 58.9 40.6 47.2 411 421 42.6
(AN AN ) 47 68. 1 48.9 55.3 34.0 38.3 29.8 29.8
L ALy (B - 3E ORI 26 65.4 42.3 53.8 38.5 34.6 42.3 42.3
i E = - - - - - - - ”
(B % 3 )
B =S * * 50 78.0 48.0 42.0 36.0 32.0 44.0 34.0
= % % * & 26 76.9 46.2 53.8 53.8 30.8 38.5 38.5
= # - * & & 76 82.9 13.7 63.2 51.3 59.2 44.7 42.1
#a 5 i = & 186 84.4 65. 6 54.3 56.5 54.8 41.9 47.8
VANEI A VAN (R 103 85.4 69.9 54.4 55.3 58.3 56.3 48.5
# 23 3 66.7 66.7 66.7 33.3 66.7 66.7 33.3
Ex xHm (X X)) 75 86.7 81.3 68.0 61.3 69.3 53.3 46.7
i 57 126 82.5 59.5 46.0 54.0 42.9 49.2 39.7
i =] =3 23 60.9 34.8 47.8 13.0 21.7 39.1 30.4
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(EHEE)

v RE | OLBDBE| BE =X z 72 =3 2

Ex |2rsR| HEB 5=

% EW |b~#e| R O

Z &% oEN| nE EF B _ ~

- | Z - ~

£ e | srs| mE | ®E ? > = M

2 = B HLB| A ~ .

o % 3 B 7= 1t & o # T

% o @ 5 = e

= 20 WE~ B t " 0" 0 = ~

% % % % % % % % % %

421 404 39.5 344 26.2 2.7 1.9 1.5 0.9 585.9
477 45.6 46.9 39.2 25.6 2.6 2.1 0.5 05 648.5
33.7 33.7 28.9 27.8 27.0 3.0 1.9 2.2 1.5 500.0
50.0 125 375 25.0 25.0 - - 25.0 - 4375
420 420 420 50.0 28.0 6.0 - 2.0 2.0 650.0
37.5 575 475 43.8 20.0 5.0 - - - 655.0
36.4 38.0 34.1 33.3 26.4 3.9 1.6 0.8 0.8 568.2
534 458 45.0 405 24.4 1.5 3.1 - 0.8 637.4
409 325 39.6 26.6 24.7 1.9 2.6 0.6 - 5571
41.6 36.3 345 28.3 33.6 0.9 1.8 4.4 1.8 528.3
27.3 27.3 18.2 9.1 27.3 - 9.1 18.2 9.1 381.8
481 51.9 51.9 63.0 259 3.7 - 3.7 - 759.3
46.0 64.0 50.0 52.0 16.0 8.0 - - - 714.0
36.1 42.2 41.0 34.9 26.5 3.6 - - 1.2 597.6
61.2 48.2 49.4 41.2 23.5 1.2 35 - - 677.6
471 34.5 49.4 32.2 27.6 1.1 2.3 - - 640.2
481 44 4 46.3 33.3 33.3 - 3.7 - 1.9 592.6
25.0 50.0 - - 25.0 - 25.0 25.0 - 450.0
31.8 31.8 31.8 31.8 31.8 9.1 - - 45 518.2
23.3 46.7 43.3 30.0 26.7 - - - - 556.7
35.6 28.9 20.0 28.9 24.4 4.4 4.4 2.2 - 500.0
39.1 41.3 37.0 39.1 26.1 2.2 2.2 - 2.2 563.0
32.8 299 26.9 19.4 209 3.0 3.0 15 - 449.3
36.4 309 23.6 255 345 1.8 - 7.3 1.8 483.6
20.0 20.0 20.0 20.0 40.0 - - - 20.0 360.0
41.8 40.1 39.7 32.7 25.7 25 21 1.5 0.2 586.8
42.2 41.2 34.3 38.2 25.5 3.9 2.0 1.0 2.9 566.7
41.6 42.7 43.8 39.3 29.2 2.2 1.1 2.2 2.2 605.6
66.7 16.7 50.0 33.3 33.3 - - - - 550.0
46.7 431 46.0 35.0 24.8 2.6 2.6 0.4 - 636.5
52.7 50.9 41.8 491 255 3.6 1.8 1.8 1.8 665.5
475 525 55.7 49.2 295 1.6 - - 1.6 686.9
35.0 36.0 31.0 294 26.9 25 1.5 3.0 05 517.8
29.8 29.8 255 255 255 4.3 2.1 - 4.3 451.1
30.8 23.1 19.2 19.2 30.8 3.8 3.8 - 3.8 453.8
30.0 220 26.0 16.0 26.0 20 - 20 - 438.0
26.9 19.2 26.9 19.2 26.9 7.7 3.8 - - 469.2
447 421 447 31.6 276 - 1.3 - - 609.2
45.7 446 419 40.3 25.3 2.7 1.1 0.5 1.1 608.6
42.7 485 35.9 40.8 204 58 1.9 1.0 1.0 626.2
66.7 100.0 66.7 66.7 - 33.3 - - - 733.3
49.3 38.7 48.0 42.7 26.7 1.3 1.3 - - 674.7
38.9 405 39.7 31.0 34.1 0.8 3.2 3.2 2.4 567.5
34.8 26.1 304 13.0 13.0 4.3 8.7 13.0 - 391.3
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£ Bl | BOK 5 ) EXOES DK PES
¥ H fi# B 1 i D5 o B 1 Rk xE
D FFR - M ) Wiz FE A A = .
" BEO | BB ES I oY) = fg =
[-E%== HEE 2 X+ [ & nE 5}
== o 32 i . #5 30 5 53
- T B wE DI+ i 1+ 5
% 5 »3 ] ER B3 -3 s
57 EC & N - 2 5C I
hig 7 & pil| N - & E- £
N % D~ X EA~ A~ z
%%
A % % % % % % %
C % - B % 3 )
( & % )
B =4 ES £ 15 80.0 53.3 53.3 40.0 40.0 46.7 20.0
C S - 19 78.9 42.1 57.9 47.4 31.6 42.1 31.6
= # - ®x % B 35 85.7 77.1 7.4 68. 6 65.7 45.7 48.6
w5 B OB & 97 91.8 1.1 60. 8 62.9 62.9 47.4 50. 5
N— k= Z LA+ 82 90. 2 73.2 61.0 59. 8 61.0 62.2 47.6
2 -3 1 100.0 100.0 100.0 100.0 100. 0 100. 0 100. 0
BEEER O(E X)) 72 86. 1 81.9 66.7 61. 1 68. 1 52.8 45.8
i3 i3 57 86.0 75.4 52.6 57.9 61.4 56. 1 45.6
i3 =] e 12 75.0 41.17 50.0 16.7 25.0 58.3 41.7
( B % )
B =4 ES £ 35 77.1 45.17 37.1 34.3 28.6 42.9 40.0
® K O ¥ & 7 7.4 57.1 42.9 7.4 28.6 28.6 57.1
= # - *® % B 41 80.5 70.7 56. 1 36.6 53.7 43.9 36.6
w 5 B OB % 88 76. 1 60. 2 46.6 48.9 46.6 36.4 44.3
WN— k= 7L A F 21 66.7 57.1 28.6 38.1 47.6 33.3 52.4
g % 2 50.0 50.0 50.0 - 50.0 50.0 -
BEE IR O(E K) 1 100.0 100.0 100.0 100.0 100. 0 100. 0 100. 0
i3 B 67 79. 1 46.3 41.8 50. 7 28.4 44.8 35.8
i =] =3 8 50.0 37.5 50. 0 12.5 25.0 25.0 12.5
(FELDHEE R
L ¥ 495 83.0 67. 1 54.3 54.5 52.5 50. 1 45.7
L Ay L 158 82.9 60. 1 55.7 50. 6 50.0 38.6 38.6
i3 =] E=3 15 66.7 33.3 33.3 6.7 33.3 40.0 26.7
(- FELOAER)
( E<q % )
L % 299 86.3 71.9 62.5 59.9 60. 9 54. 8 47.5
L Ay L 86 91.9 72.1 58. 1 58. 1 58. 1 46.5 41.9
i3 =] %= 5 80.0 60.0 20.0 - 40.0 40.0 20.0
( ] i )
L % 191 78.0 60. 2 41.9 46.6 39.8 43.5 43.5
L Ay L 1A 71.8 46.5 52.1 40.8 40.8 29.6 33.8
i =] = 8 62.5 25.0 37.5 12.5 37.5 50.0 25.0
C # = 3 )
= i #h ) 183 84.2 68.3 56. 8 56. 8 56. 8 51.4 44.3
th ] #h ) 124 81.5 58.9 54.0 57.3 44. 4 48. 4 48. 4
= N #h 12 149 83.9 65. 1 52.3 56. 4 51.0 45.6 47.7
i it #h 12 63 85.7 74.6 58.7 49.2 52.4 39.7 47.6
+ it #h 12 104 80. 8 64. 4 55. 8 41.3 55. 8 471 33.7
F it #h 12 36 80. 6 55. 6 36. 1 44. 4 38.9 41.7 27.8
i =] = 9 55. 6 33.3 55. 6 22.2 44. 4 44. 4 44. 4
C & - # 8 3 )
( E°q % )
= i #h 12 109 88. 1 73.4 61.5 57.8 62. 4 55.0 43.1
h ] #h 12 56 91.1 73.2 67.9 66. 1 62.5 57.1 50.0
= N #h 12 94 85. 1 70. 2 58.5 69. 1 59. 6 54.3 56. 4
i it #h 12 40 95.0 80.0 62.5 50.0 57.5 40.0 47.5
+ it #h 12 67 83.6 67.2 62.7 49.3 59.7 52.2 35.8
F it #h 12 21 85.7 66.7 42.9 47.6 47.6 47.6 28.6
i =] = 3 66.7 66.7 66.7 33.3 66.7 66.7 66.7
( - i3 )
= i #h 12 73 79.5 61.6 50. 7 56. 2 49.3 46.6 46.6
h ] #h 12 67 73.1 47.8 43.3 50. 7 29.9 41.8 47.8
= AN #h c) 52 80. 8 57.7 40. 4 32.7 36.5 32.7 32.7
i it #h c) 23 69. 6 65. 2 52.2 47.8 43.5 39. 1 47.8
+ it #h c) 37 75.7 59.5 43.2 27.0 48.6 37.8 29.7
F it #h c) 14 7.4 35.7 21.4 35.7 21.4 28.6 21.4
i = S 4 50. 0 25.0 50. 0 25.0 50. 0 50. 0 25.0
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. Ex |BEHR| HEB gz

% W |L~te| = D #%

i &% DEN| HH Bt » _ ~
z 1 Z s =

e e | #mes| mE | 2 ? ° = M

2 =M BLB| A® ~ 7

o 7 % B 1t 3 o s T

% % i 5 = %

% E40) HERN # # " N N " -

% % % % % % % % % %
26.7 20.0 40.0 20.0 26.7 - - - - 466.7
31.6 26.3 26.3 26.3 211 53 53 - - 473.7
54.3 51.4 62.9 371 25.7 - - - - 694.3
53.6 53.6 49.5 443 23.7 2.1 1.0 - 1.0 676.3
43.9 51.2 36.6 39.0 23.2 6.1 1.2 1.2 - 657.3

100.0 100.0 100.0 100.0 - - - - - 1,100.0
47.2 375 47.2 41.7 26.4 1.4 1.4 - - 665.3
491 43.9 56.1 421 36.8 - 3.5 1.8 1.8 670.2
50.0 41.7 41.7 16.7 8.3 8.3 16.7 - - 491.7
31.4 22.9 20.0 14.3 25.7 2.9 - 29 - 425.7
14.3 - 28.6 - 429 14.3 - - - 4571
36.6 34.1 29.3 26.8 29.3 - 24 - - 536.6
36.4 35.2 34.1 35.2 273 3.4 1.1 1.1 1.1 534.1
38.1 38.1 33.3 47.6 9.5 4.8 4.8 - 4.8 504.8
50.0 100.0 50.0 50.0 - 50.0 - - - 550.0

100.0 100.0 100.0 100.0 - - - - - 1,100.0
31.3 38.8 25.4 22.4 31.3 1.5 3.0 45 3.0 488.1
12.5 12.5 12.5 12.5 25.0 - - 12.5 - 300.0
41.8 41.0 40.6 345 26.9 24 2.0 1.6 04 598.6
43.7 39.9 38.0 35.4 23.4 3.8 1.3 0.6 25 565.2
33.3 26.7 20.0 20.0 33.3 - 6.7 6.7 - 386.7
46.8 45.2 475 38.8 25.8 2.3 2.0 0.3 0.3 652.8
51.2 48.8 46.5 43.0 244 3.5 1.2 1.2 1.2 647.7
40.0 20.0 20.0 - 40.0 - 20.0 - - 400.0
34.0 35.1 29.8 28.3 28.3 2.6 2.1 3.1 0.5 517.3
33.8 29.6 28.2 25.4 225 42 1.4 - 42 464.8
25.0 37.5 12.5 37.5 37.5 - - - - 400.0
410 39.3 39.3 35.5 21.3 2.7 22 3.3 0.5 603.8
435 39.5 38.7 371 323 5.6 1.6 0.8 0.8 592.7
43.0 45.0 41.6 38.3 26.8 3.4 - 0.7 2.7 603.4
31.7 429 444 30.2 23.8 - - - - 581.0
48.1 40.4 38.5 30.8 221 1.0 3.8 1.0 - 564.4
38.9 27.8 30.6 25.0 38.9 - 5.6 - - 491.7
444 333 333 222 44.4 - 111 11.1 - 500.0
440 45.0 46.8 40.4 211 3.7 3.7 1.8 - 647.7
55.4 51.8 51.8 48.2 28.6 3.6 1.8 - - 708.9
52.1 50.0 48.9 447 31.9 3.2 - - 2.1 686.2
325 425 55.0 325 17.5 - - - - 612.5
50.7 433 418 29.9 23.9 1.5 1.5 - - 603.0
429 23.8 28.6 28.6 28.6 - 4.8 - - 523.8
66.7 66.7 333 33.3 66.7 - 33.3 - - 733.3
37.0 31.5 28.8 28.8 21.9 1.4 - 4.1 1.4 545.2
34.3 29.9 28.4 28.4 35.8 1.5 1.5 1.5 15 503.0
25.0 38.5 28.8 26.9 17.3 3.8 - 1.9 3.8 459.6
30.4 435 26.1 26.1 34.8 - - - - 526.1
43.2 35.1 324 324 18.9 - 8.1 2.7 - 494.6
28.6 28.6 28.6 14.3 50.0 - 71 - - 392.9
25.0 25.0 25.0 25.0 50.0 - - - - 425.0
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